COBRA® 23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180 Fax. 714.692.5016

www.cobrausa.com

Items Supplied > Application(s) >
1 - Sissy Bar w/ Pad & Interchangeable Chrome Insem \

2-M Brackets (Left/Right) HARLEY
- Mount Brackets (Left/Right !
4 - 3/8-16 x 1¥4 Buttonhead Bolts FLSTF 2000-2006

4 - Spacers FXST/S/B 2000-2005
4 - M8 x 20mm Buttonhead Bolts

Instruction Manual > ‘\ 602-1250 / 602-1300 ‘\ Page 1 of 11

Read all instructions carefully before installing your new Cobra® product!
1. Remove and discard the (2) 3/8 bolts/washers from the right side fender rail. Do NOT remove the
chrome fender rail.

2. Install right sissybar mounting bracket (part # facing inward) by inserting (2) supplied 3/8-16 x 1%
buttonhead bolts through the sissy bar mount bracket, supplied spacers, chrome fender rail and into
the fender nut plates. DO NOT TIGHTEN AT THIS TIME.

3. Repeat Steps 1 & 2 on left side.

Install the sissy bar between the brackets using the four (4) supplied M8 x 20mm button head bolts.
5. Align sissy bar and torque all bolts to their appropriate values.

INTERCHANGEABLE o
CHROME INSERT
(HIDDEN)

SISSY BAR —)-"/ .

| '.I FENDER NUT PLATE
| (HIDDEN UNDER FENDER)
M8 x 20mm III.II

BOLTS

\ b ’.:&;H
MOUNT BRACKET e FENDER NUT PLATE
; S % (HIDDEN UNDER FENDER)
N
3/8-16 X 1%

xx '
BUTTONHEAD BOLTS ~———————=¢

CHROME FENDER
SUPPLIED SPACERS RAIL
PICTURE MAY VARY FROM APPLICATION
FIGURE 1
(RIGHT SIDE SHOWN)

ALTERNATE BACKREST INSERTS AVAILABLE AT COBRAUSA.COM

* Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under

the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

1010 | Anything's Possibie ,



